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General Instructions :
Read the following instructions very carefully and strictly follow them :
(1) This question paper contains 14 questions. All questions are compulsory.

(it)  This question paper is divided into three sections — Sections A, B and C.

(iti) Section A comprises of 6 questions (Q.no. 1 to 6) of 2 marks each. Internal

choice has been provided in two questions.

(iv) Section B comprises of 4 questions (Q.no. 7 to 10) of 3 marks each. Internal

choice has been provided in one question.

(v)  Section C comprises of 4 questions (Q.no. 11 to 14) of 4 marks each. Internal

choice has been provided in one question. It also contains twe case study based

questions.

(vi)  Use of calculator is not permitted.

SECTION A

Question numbers 1 to 6 carry 2 marks each.

1. Find the mode of the f(&@ﬂg frequency distribution : 2
Class 1&@0 20—-30 | 30—-40 | 40-50 | 50-60
N\
Frequency & 15 10 12 17 4
NS
O
2. Two concentric circles are of radii 4 cm and 3 cm. Find the length of the
chord of thelarger circle which touches the smaller circle. 2
3. (a) Find the sum of first 30 terms of AP : — 30, — 24, — 18, ..... . 2
OR
(b)  Inan APifS, =n (4n + 1), then find the AP. 2
4, A cone of height 28 cm and radius of base 7 cm is made up of modelling
clay. A child reshapes it in the form of a sphere. Find the radius of the
sphere. 2
.30/1/2 3 P.T.O.
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5. (%) m fpa am & fou fgama afteon
m-1)x2+2m-1)x+1=0

% T SR 3R arEdfaeh A 8 ? 2
AUAT
(@) T fgema gt =1, x & fou g il . 2

V3x2+10x+74/3 =0

6. WH I 5T4 qd Y (I H) TAT € F 7 I IWA IGeh! Y I OHGA
IGeh! FARH 3T o & T4 | Teh AUk § | IHeh! IaWM g 1A T | 2

LCLERC)
Yo7 GEIT 7 G 10 T I9% F97 H 3 JFH & /

7. (%) Th HHN % Ure-foig ¥ Th Wad o TR 1 I 101, 30° 8 3R WA
are-fog & MR < R &1 39 HIor 60° 2 A A TR 50 . SR 2,
ql 9= sl S8 F1d hiT | 3
AT
(@) T T8 % 4d o Tk g § T4 & G @ TR o STHEA iUl SHA:
30° 3R 45° § Wﬁ'@v%ﬁﬁ 3. &t F=E WA, @ A FHI TS
S\\

T SIS | 3
8. ot ot & 30@1?@%@4%«% CERCI= R
i e
N %ﬁ) Fafefr #) e
100 -120 8
120 — 140 3
140 - 160 8
160 — 180 6
180 — 200 5
HEATIT 1 7ed e @ 1 T | 3
.30/1/2 4
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5. (a)  Find the value of m for which the quadratic equation
m-1Dx2+2(m-1)x+1=0
has two real and equal roots. 2
OR
(b)  Solve the following quadratic equation for x : 2

J3x2+10x+ 73 =0

6. The product of Rehan’s age (in years) 5 years ago and his age 7 years
from now, is one more than twice his present age. Find his present age. 2

SECTION B

Question numbers 7 to 10 carry 3 marks each.

7. (a)  The angle of elevation of the top of a building from the foot of the
tower is 30° and the angle of elevation of the top.of the tower from
the foot of the building is 60°. If the tower 15 50 m high, then find
the height of the building. 3

OR

(b)  From a point on a bridge across a river, the angles of depression of

the banks on opposite sides of the river are 30° and 45°
respectively. If gtihg\%ridge is.at a height of 3 m from the banks,

then find the of the river. 3
&
8. Following is tl% ily expenditure on lunch by 30 employees of a
company :
@
Daily Expenditure Number of
(in Rupees) Employees
100 — 120 8
120 — 140 3
140 - 160 8
160 — 180 6
180 — 200 5
Find the mean daily expenditure of the employees. 3
.30/1/2 5 P.T.O.
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9. Ife f=faRaa s1fest o1 miegss 33 8, @ m =1 A F1d HIfNT - 3

Fif 0-15 |15-30|{30-45|45-60|60-75|75-90

TRIRTT 17 35 40 18 m )

10. 5 & BT % U g9 W UHT g TRI-@rsl shi T HINT, ST 60° 6
I T FhT T | 3

wQ|us 1

Yo7 &I 11 @14 TF I9F Jo7 & 4 37 8 |

11.  3Tfd 15 T0ev Biyst ABCH, £ B = 90°,AB'= 12 &+ G2 BC = 5 & 7 |

ﬁwwc%mﬁgaﬁaﬁﬁwwﬁm| 4
K\Q
&6 A
\Q‘G
@Q
$
C B
STTPIT 1
30/1/2 6
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9. If the median of the following data is 33 then, find the value of m : 3
Class 0-15 |15-30|30-45|45-60|60-75|75-90
Frequency 17 35 40 18 m 2

10. Construct a pair of tangents to a circle of radius 5 cm, which are inclined

to each other at an angle of 60°. 3

SECTION C
Question numbers 11 to 14 carry 4 marks each.

11. In Figure 1, a right triangle ABC in which # B = 90°, AB = 12 cm and
BC = 5 cm is shown. Find the radius of the circle inscribed in the

triangle ABC. Q® 4

N

Figure 1

.30/1/2 7 P.T.O.

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

12.

13.

EE
e

(%) Furs 30 THY qen B 7 At At U I oo H T 24 Tt S=g qen
3t s aTeT U YRR @id shieet el forn Sirar @ | 9w =
31 <1 rgul gEi &EThe A ShITT |

HIAT

(@) 8. =St aur 6 M. TEh U TE W U 12 fRfiEe i ure ° 98 @
2119 T 97 7 Fohan @wa 1 =T = uwh, afe fiEE % fow
0-05 HI. TYaTE Il Y ATETIHAT Bl B 2

ThOT FAETT4 - 1

TG § Gl Bl s TR T Ak ThAT ST Hohdl & | ATfeg I dife=l 9§ 391U
T e T HEYl W OSTYTRd § | STO-3T SRl H YgE HieE
<ifert =it T J1a w6 fore e Jhwat s 6t S aehdt 8 |

@&mﬁﬁﬁﬁ%mﬁbﬁ% e 1 eamgde SR qur TEi S

ngﬁmq@%waﬁﬁ
/—\\ @Q\Q//\/\ //—\—\—\\
P D D>
A ¥4 N/ \/ N/\/\/
STPI 1 STPIT 2 STPIT 3

(%) oAl § TY® B hl T B W AT Tk FEAR S faRau |
39 HHIA &S 1 nal 9g o faRay |

(@) forE oTTpld § 61 ATRE i ATl 1 ITART 3T 2 2

.30/1/2 8

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

12. (a) From a solid cylinder of height 30 cm and radius 7 c¢cm, a conical
cavity of height 24 cm and same radius is hollowed out. Find the

total surface area of the remaining solid. 4

OR

(b)  Water in a canal, 8 m wide and 6 m deep, is flowing with a speed of
12 km/hour. How much area will it irrigate in one hour, if 0-:05 m

of standing water is required ? 4

Case Study -1

13. In Mathematics, relations can be expressed in various ways. The
matchstick patterns are based on linear relations. Different strategies
can be used to calculate the number ‘of matchsticks used in different

S

One such pattern is @Wn below. Observe the pattern and answer the

figures.

&
following questi(@sing Arithmetic Progression :

§®

VAN VA VAN VAN

4 G > A1 D

Y% N P2 I T
N \N/\/ N \/\/

Figure 1 Figure 2 Figure 3

(a)  Write the AP for the number of triangles used in the figures. Also,

write the ntP term of this AP. 2
(b)  Which figure has 61 matchsticks ? 2
.30/1/2 9 P.T.O.
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14. TEIE Sid ORI o SHail el T foa 8 | 39eh! SR & TS 3 S99/
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S 8% 8 | 3AH | Th DAl I A= ST AT

o I AHYEe GRdy, | I <l T8 § 4 Hl. Sams W oo fog A9 50 &
3N (foig B) 1 373 &0 45° 8 a1 g4t fag & ol § Bad & Widfers
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Case Study - 2

14. Gadisar Lake is located in the Jaisalmer district of Rajasthan. It was
built by the King of Jaisalmer and rebuilt by Gadsi Singh in 14th century.
The lake has many Chhatris. One of them is shown below :

Observe the picture. From a point A 2~ m above from water level, the

angle of elevation of top of Chhatri (point B) is 45° and angle of
depression of its reflection in water (point C) is 60°. If the height of
Chhatri above water level is (approximately) 10 m, then

(a) draw a well-labelled figure based on the above information; 2

(b)  find the height (&) of the point A above water level.
(Use V3 =1-73) 2

.30/1/2 11
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